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Who among the following is given the responsibility to implement the National Digital Health Mission? |
(A) Director general of Health Services
(B) MNational Informatics Centre

(C) Niti Aayog i
(D) National Health Authority

Al S sl BlEree »udlou Bas- 2l saieieEl Al 2udl of

(A) ULeY Al HelREus
(B) 2dld Yurldaud s

(C) -l »uxiaL |
(D) 2ly 2Ly MilEs18

National Education Policy 2020 has proposed to set up MERU universities for
(A) Medical Education and Research

(B) Multidisciplinary Education and Research |
(C) Mechanical Engineering and Research

(D) Mass Communication, Economics and research

wdla e AR202040 12 W3 (MERU) YRaREl( eumadl svird .
(A) rtoflefl (e »1e Aailu-t

(B) egfamus [Dam »iq Al i
(C) 4ty Sl v dsilam |
(D) dissiug, elauzst vt sllud '

|
3. PRAGYATA Guidelines are associated with: - i
(A) Paid news in print media |

|

(B) Digital education
(C) Corona patients' rehabilitation |
(D) Railways safety and cleanliness
usildl (PRAGYATA) Hiolelst st 8- |
(A) Biz {lBumi 254 sl 2uld AR
(B) [ileq [Diae

(C) stdleL eeloile Yrsdun

(D) 3ed Aaridl 217 29l
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4. Find correct statement(s) about the GST compensation Cess.
l. It is levied by the Union Government.
2. It is levied on all goods and services.
3. States will be compensated if their revenue growth is less than 12% after the implementation of GST.
Answer Choices:
(A) Only 1
(B) Only 2
(C)Only 1 and 3
(D) All three statements
apaladl sl Gus 2430 e [y [EEel s,
1. o Zeg AL G130 ARAAUNL L B,
2. o MM a3 wir ARl YR ayad™l vud ©,
3. sl aioy 9 Ml oA 2erldl 2eea qlz 127 53l w0l el dl dual 4ndR 2uuaml suddl.
et [Aseul:
(A) &5 |
(B) $5c 2
(C) &5 191 3
(D) A8l Azl
5. During COVID -19 pandemic, Act was invoked to fix the prices of masks and sanitizers.
(A) Disaster Management Act
(B) Essential Commodities Act
(C) Epidemic Diseases Act
(D) GST Anti-profiteering Act

1A 19 Heridl sR(RalH, HRs 2 AR2IOHAL ol A55] 5341 M2 SMELL Gualal SR
LML il

(A) BUUEL ol »i(EMAYY
(B) 2ue9us Alorazd sEMAYH
(C) Mgl =EMyY
(D) @4l gl [AR1H mERY
6. Which of the following organizations has published the Global Gender Gap Index 20207

(A) UNDP (B) World Economic Forum
(C) UNESCO (D) World Bank

rllriniell 56 2ret sdlote e S yAsis 2020 usiBld s &7

(A) Y-l (B) (A4 215 1

(C) yrizsl (D) (@ s
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T Find incorrect statement(s) about the Global Partnership on Artificial Intelligence (GPAI).
1. India is a founding member of this organisation.
2. Its secretariat is located in Geneva, Switzerland.
Answer Choices:
(A) Only 1 (B) Only 2
(C)Both | and 2 (D) Neither 1 nor 2
2EGERuY S-2R- -l s euallzdl (o.Ml 208.) [A8 vl Fae-/-l w4,
1. GllRd AL A2 RIS Ho ,

2. dd uBa Razod sl Brefllal vid »udg &.

ooy [dsedl:
(A) §5d 1 (B) 50 2
(C) 1 34 2 64 (D) 1 e 2 U5l 3% ]
8.  Which of the following nation(s) have declared a national emergency to tackle the locust attack in 20207
1. Somalia
2. Pakistan
Answer Choices:
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Meither 1 nor 2
flakeriell suL eeREl5l 2020 M dliril gHardl WnAl sza wdla s2sd- dive 5407
1. AlulEuL
2. wilErdid
gt [Rsedl:
(A) §5¢ 1 (B) §5d 2
(C) 1 217 2 6in (D) 1 wiadl 2 Wil 21k A4l

9,  Which of the following statement(s) is/are correct regarding Mali?
1. It shares land borders with Sudan, Cameroon and Congo.
2. It is a landlocked country of Eastern Africa.
Answer Choices:
(A) Only 1 (R) Only 2
(C) Both | and 2 (D) Neither 1 nor 2

el »{3] Al iall su R/l 2 s?
1. d etdt, 3431 2 5ol el ol wrecldl Aada .
2. o ydl >ulEsil el sist avzsl (ol duda) 2a s,

arals [Aseul:
(A) &5 1 (B) $5d 2
(C) 1 249 2 6is (D) 1 24uar 2 4l 913 Al
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10. State Government has declared sweet-scented apple-mangrove as its official mangrove tree?

(A) West Bengal (B) Maharashtra
(C) Gujarat (D) Andhra Pradesh
alore, sk 4L ikl 45ar--A3A Al iz A2 ga 4l uda s 97
(A) Wy sisum (B) a0
(C) A% (D) @iz

11.  Which of the following region(s) of India has/have tiger habitats?
|. Gangetic Plains 2. Eastern Ghats 3. Brahmaputra Plains 4, Shivalik Hills
Answer Choices:
(A) Only 2 and 3 (B) Only | and 4
(C) Only 3 (D) All four regions
aqtRerl el a1 nz e ae RaRae 67

Lot derd 2. udlae 3 wsypul el 4. sl 253l

et [Aseul:
(A) 50 2 0 3 (B) 85 1 ¥4 4
(C) &5 3 (D) A3y Uzl

12.  Which of the following statement(s) is/are incorrect about hydroxychloroquine?
1. India is the largest importer of this medicine in the world.
2. 1t is used in the treatment of malaria.
Answer Choices:
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither | nor 2
il sui Qs e iisllsdiiiBas @ vig el 87
1. RaHi w1 eaiedl el {2 WsuHl sl 521R sa MiRd 8.
2. dril Guala AR RaRH w8,
areuet [dsel:

(A) &5l 1

(B) &4d 2

(C) 1 21+ 2 vin

(D) 1 iz 2 W4l A% A4l
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13.

14.

Which of the following statement(s) is/are correct about the Green Climate Fund?

I, It was set up by the United Nations Framework Convention on Climate Change.

2. Its headquarters is located in South Korea.

Answer Choices:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

wlid waaw MR R Hd-miEl s Rde-/-l aime?

1. o ety WRad Uz Aysd WLIHL #44s Sd-ain gl orladiil 21 ed.

2. dd You Has elEe slfEum 2udd ©.

ageiey [Aseul:
(A)S5d | (B) &5c 2
(C) | it 2 0in (D) 1 a2 4l =i el

With reference to Asian Infrastructure Investment Bank (AIIB) consider the following statements: -

1. Its headquarters is located in Beijing.

2. India is 2nd Largest shareholder in this bank.

3. It was formed in 2009.

Which of the statement(s) given above is/are correct?
{(A) only 1 and 3

(B) only 2 and 3

(C)only 1 and 2

(D) only 3

A S-sizpsur Srazeiz og (Sdatisdoll) wt el A Mae-l wu-Hi dl: -

1. dd Hou Hus QBN suad &,

2 il GisHi ol1ad oflon xu Aiell Al drelesz .
3. d+ll 2+t 2009 i szauHi 20l wdl.

Gt Wbl sul Bt/ 2L &7

(A) §5c 1 ¥ 3

(B) §5d 2 wi 3

(C) 85ct 1244 2

(D) 54 3
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15. Bhimashankar Wildlife Sanctuary located in State.

(A) Madhya Pradesh (B) Maharashtra
(C) Chhattisgarh (D) Meghalaya
oflangisz armell s UTUHL R

(A) MU (B) Hes

(C) ordluaie (D) HELE,

16. Which of the following statement(s) is/are correct about the Chief of Defence Staff (CDS)?
1. He heads the Department of Military Affairs.
2. He has the rank of a five-star general.
3. Gen. Bipin Rawat is the first person to hold this post.
Answer Choices:
(A) Only 1 and 2 (B) Only 2
(C) Only 1 and 3 (D) All three statements
A5 2is Eeu 225 (F10A2) R -l s Rded/Hl w87
1. d eesdl sustdi-il [Eeusi a3t 8.
2. Anell Wl UR-dins el dlal 8.
3. oeinel B 2icd »i G1EL UL s3UR HuH HBd S,

agaisy [Ageul:
(A) S5 1 i 2 (B) §5d 2
(C) &5 1 2t 3 (D) A8y Mael

17. In 2019, the President of India had conferred the Bharat Ratna award on
! 1. Pandit Deen Dayal Upadhyay
2. Dr. Bhupen Hazarika
3. Atal Bihari Vajpayee
4. Pranab Mukherjee

Answer Choeices:

{A)only 1 and 3 (B) only 2 and 4
(Cyonly 1,2 and 3 (D) only 4
2019 i, tuRd-L 2reuldst | ol et el Bl 540 el

| 1. Q3 gl suie GuirRuy
2. 4L, oyl wonlist
3. vz Bedl gl

4. ugla Yo

agaled [dseul:

(A) &5 121 3 (B) $5¢. 2 2471 4
(C)&5d 1,231 3 (D) 5.4
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18, Find incorrect statement(s) about India’s foreign trade:

1. Directorate General of Foreign Trade (DGFT) is an attached office of the Commerce Ministry,

2. Asia's first Export Processing Zone (EPZ) was set up in Kandla in 1991,

Answer Choices:

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

MRl [ dwz [Rd vz, Rde-)-) gl

1. Biselie o-2e 3l1g $134 3¢ (lewnisdl) 3 Ao visuad-l wil 9 N{ERTRT
2. 1991 M1 BBl ueH Fstat UG Aot (§58) L 2aiuety Soetaii saanmi sl sl
et [Gseyl:

(A) 85 |

(B) §5c 2

(C) binl 1 i 2

(D) 1 2t2q 2 U4 % Al

19.  Under the Atma-Nirbhar initiative, the Government has linked the definition of MSME indusiries with

1) Investment
2) Annual Turnover

3) Mumber of employces

Answer Choices:

(A) Only 1

(B) Only 2 and 3

{(C)Only 1 and 2

(D) All three statements

AR udd So0 22513 DUBUANS Gelolll vt WA RN LS,
1. 258t

2. allls a-{=ilqz

3. sl svy

openey [Asedl:

(A) &5 1

(B) &5cl 2 244 3

(C) §5ct 1 21n 2

(D) A8, [Aderl
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20.

21,

Find the incorrect statement(s) about the Monetary Policy Committee of India:
1. The Chief Economic Advisor of India is the vice-chairman of the committee.
2. Tt has 6 members.

3.1t is a statutory body under the Banking Regulation Act.

4. It decides the repo rate of India.

Answer Choices:

(A) only 1 and 3

(B) only 2 and 4

(C)only 1, 2 and 3

(D) only 4

euzaddl -usidl -0R aBE B e Rae/- o

1, oL 4 HURs qelesR 2 AR GUEHE .

2. Al 6 Mol 8,

1. 3 GilEsr s suel ssu-l AuRs e .

4. A o2l 2L e A58l 2 8.

apant [Aseul:

(A) S5 1 344 3

(B) §4¢ 2 ¥irt 4

(C) 854 1,223

(D) 85 4

Find correct statement(s) about the Lokpal of India:

1. Justice Pinaki Chandra Ghose is the first chairperson of Lokpal.
2. Upper age limit is 70 years for the chairperson.

3. Chairperson is assisted by five judicial and five non-judicial members.
Answer Choices:

(A) Only 1 and 2 (B) Only 2

(C) Only 1 and 3 (D) All three statements
oyl dlsuie [@9 v Me e/l sl

1. dlsuienl Man e R [l de 1 e,

2. speye ue W12 Guell qumalel 70 al &,

3. e, 2sld 520 wis - 1S 20 wid B —uls aedl-ll sdorud o,

sty [Aseul:
(A) &5 1 22 (B) §5d 2
(C) §5c 1 3 3 (D) =24 [Rdexl
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22,

23,

24,

Find correct pair(s) of book vs author:
I. Overdraft: Saving the Indian Saver: Dr. Raghuram Rajan

2. Backstage: The Story Behind India’s High Growth Years: Montek Singh Ahluwalia
Answer Choices:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 {D) Neither 1 nor 2

Auls H Yads-l w2l A (>0) skl

L. ilayse : Ak 4l SRaq Aaz : 3. 2gum 2w

2. Aseesy : Rl Breides SFsut w1 ally wal : 125 Gie wilsg il
o [Aseul:

(A) §5d | (B) 851 2

(C) 6l 124 2 (D) 1 el 2 U4 2% +d]

What changes have been made in the bank deposit insurance coverage by the Budget 20207

(A) increased from ¥ 50,000 to ¥ 1 lakh.

(B) increased from ¥ 1 lakh to ¥ 5 lakh.

(C) increased from ¥ 2 lakh to T 5 lakh.

(D) no changes have been made.

61%2 2020 gl 65 aiusil uz e sadonil g 32812 5290 20dd 7
(A) 50,000 ol audl-L T apy,

(B) T 1 arell arudld T 5 .

(C) T 2 cardll qeudla T 5 e,

(D) 5185 3381 SeUHL »ueL 2]l

PM KUSUM Yojana is related to  sector.
(A) Floriculture and Horticulture

(B) Solar Energy

(C) Primary education of girl child

(D) Higher education of girl child

oAl gud dloeil ot 20l Heilia &
(A) gelll viell 244 spodl

(B) #lz (ol

(C) sundld walbis maa

(D) eun sl G2y (5128
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25, Which of the following is/are not among the component(s) of the World Bank’s *Ease of Doing Business
Index?

|. Dealing with construction permits

2. Paying taxes

3. Registering porperty

4. Maintenance of law and order

Answer Choices:

(A)only 1 and 3 (B) only 2 and 4
(C)only 1, 2 and 3 (D) only 4
aed BlseL ‘iR A ot Yasisi Bu W4l suLaes(8) ll?
. G{HSIHAL YRALAL %15) il AR

2. 52 64l

3. Mesdrl el

4. s1a5L v sl smoael

ageut [Aseul:
(A) &5t 19413 (B)$5 2 7 4
(C)asm 1,213 (D) &5 4

26. CRISPR technology is relatedto
(A) Artificial Intelligence
(B) Satellite Fuel
(C) Biology
(D) Particle Physics
Boresdde  dlaifds.
(A) 2UEERua dr2law-
(B) Guate sl
(C) Zmelilla=l
(D) 52t elldsuet
27.  GST Council meetings can proceed only with a quorum of __ % of the total membership.

(A) 10% (B) 50%

(C) 66.66% (D) 75%

apuludl UEME-AL 58 AOUUEAL .. .. 7% 512 i ol o Slas-l solldl ug 53 s,
(A) 10% (B) 50

(C)66.66% (D) 75%
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28.

30.

In 2[!203 more than 300 elephants died because of cyanobacteria in Okavango Delta, This region is
located in country.

(A) Congo (B) Namibia
(C) Kenya (D) Botswana

é{:{m Ui, 2ilsiaiall Yeeril A s2Run si2él 300 o ay erellail 3oy w2 Uz eami
.

(A) a0 (B) ~u{llBra
(C) 3=l (D) silga=L
Arrange the following places from east to west.

1. Nathu La

2. Bomdila

3. Shipki La

4. Banihal Pass

Answer Choices:

(A)2-1-34 (B) 4-2-3-1
(C) 4-2-1-3 (D) 1-3-2-4
{2 2in yelell wlRimai s oflsdl,

. Uy el

2. ol dlen

3. [Budl e

4. siFsld Wy

apauoy [dseyl:

(A) 2-1-3-4 (B) 4-2-3-1
(C)4-2-1-3 (D) 1-3-2-4
What is the objective of the 'Project NETRA' of ISRO?

(A) It is a weather forecast satellite.

(B) It is an early warning system to detect space hazards to Indian satellites.
(C) It is a spy satellite.

(D) None of the above.

SRUAAL UlFs2 At il GRey 4 &7

(A) A s siandl 12l Guae &,

(B) Uclld Guatel 12 vasia- A allaan e d wils Aaqel ueudl &
(C) o 2yl Gune &,

(D) Gulst W4l 243 3,
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31, Which of the following has been declared as a Ramsar wetland site in India?
1. Nandur Madhmeshwar Bird Sanctuary , Maharashtra
2. Keshopur-Miani Conservation Reserve, Punjab
3. Samaspur bird Sanctuary, Uttar Pradesh.
Answer Choices:
(A) Only 1 (B) Only 2
(C) Only 1 and 3 (D) 1,2 and 3
Aaluiell 51 ouRdME 2R A BB R afld ud s sldd 7
I, g2 Hui A vall 20IRR, HeRg
2. hailya-Craell dvas Rovd, veaot
3. AMAYR UGl AU, Gz uen
araion [Aseul:
(A) #5d 1 (B) &5l 2
(C) §5c 1 1 3 (D)1, 2343
32. Bio-rock technology is associated with
. (A) Plastic waste management (B) Hazardous waste management
(C) preventing desertification (D) Restoration of coral reefs
oy WABE_ wdsnda .
(A) @ilRzs sy usit (B) el suid Hoidr
(C) 2ellszexdl Asan 1) RECTEIRTREROE RTRESTNR
33, “NOTA’ option is available to voters in _____election(s).
1. Lok Sabha Election
2. State Assembly election
3. Rajya Sabha Election
Answer Choices:
(A) Only 1 and 2 (B) Only 1
(C)Only 1 and 3 (D) Only 2
el (») Mi Hdsil w2 el [@sey Guas ©.
1. disuoudl deell
2. 2 (Aol Azell
3. assuuensdl el
ogeued [Aseul:
(A) 551 #1712 (B) 854 1
(C) &5c 1 211 3 (D) §5d 2
CSSC-GS-1-VRS-2020 - A 14 [Contd.



34,

35,

36.

Which of the following position(s) are mentioned in the Constitution of India?

. Leader of Opposition

2. Office of Whip

Answer Choices:

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

HRer SR il sul dleydlem AL Gedw @7
. [Auael Adl

2. [FeyAl »iBEu

ralel [dseyl;

(A) $5c 1

(B) &5 2

(C) 6ivl | 240 2

(D) 1 a2 U4 3% 4.
Miyawaki method is associated with
(A) Soil conservation technique

(B) Pisciculture

(C) Controlling Coronavirus

(D) Afforestation

Pauaflugl  wddsnida s,

(A) *y[A-2iza8 dsdls

(B) M Geilay

(C) SR EBLa

(D) a-{lszel

Which of the following countries is admitted as the Observer in Indian Ocean Commission?
(A) India {B) Seychelles

(C) Madagascar (D) Mauritius

f2-uniell st 2 R seruar 2wl Fiflas ddl3 uas sunas wide 67

(A) B3d (B) Aslen

(C) ML3LoURER (D) HIEEHA
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17,  The Genetic Engineering Appraisal Committee is constituted under the
(A) Food Safety and Standards Act, 2006
(B) Geographical Indications Act, 1999
(C) Wildlife Protection Act, 1972
(D) Environment Protection Act, 1986
siigdlits Sl yeuis aBlallra 30 szl sudl 8.
(A) vitel el i Ji sl 2AREH, 2006
(B) ellollf@s 2kl Mzl wEFRA, 1999
(C) arpuiell ge wMFAYH, 1972
(D) wal=zs dzael «AFU, 1986

38, Which of the following medicines is blamed for the large scale deaths of vultures in India?

(A) Amoxicillin (B) Oxytocin

(C) Diclofenac {D) Meloxicam

otz ottt Mzl wid Hey iz DAl 56 £euR et 3aM 2ud 7
(A) AR (B) wisa{lelfan

(C) Suseld-Als (D) AellBuiy

39.  Which of the following statement(s) is/are correct about Export Preparedness Index 20207
|. Maharashtra is given the first rank in this reprot.
2. It is released by the Niti Aayog.
Answer Choices:
(A) Only 1
(B) Only 2
(C) Doth 1 and 2
(D) Neither 1 nor 2
il st Bl P dadl gasis 2020 R w87
1. i SlSalEH] HelRed UUH $3 AL Bl 9.
2. & AlR 24190 1AL GLeIR WLl BUdd 6,
el [aseul:
(A) G4t 1
(B) §5¢l 2
(C) 1244 2 6i
(D) 1 vizia 2 4 1 ]
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40.  Which of the following statement(s) is/are incorrect about the Shompen community?

41.

1. They live in the Great Nicobar Island.

2. They are included in particularly vulnerable tribal group.
Answer Choices:

(A) Only 1

(B) Only 2

(C)Both 1 and 2

(D) Neither 1 nor 2

AlA-miell san Ryl el e [ viel 67
1. dil 32 RseuR 2ryHi 2 6.

2. Azl Ay usll sueAz sulaal ol wHd 9.
apeutt [Asel:

(A) &5 1

(R) §5d 2

(C) 1 317 2 64

(D) 1 »iad 2 W4l =3 +4dl

Which of the following are the member states of the Gulf Cooperation Council ?
1. Kuwait

2. Saudi Arabia

3. Yemen

4, Oman

Answer Choices:

{(A) only 1 and 2

{B)only 1, 2 and 3

(C)only 1, 2and 4

(D) only 2

el sl oes Al-wiiuas sIGRE AL uey Tl 87
1. 4

2. whel v

3. 434+

4, BllHiA

gt [[seul:

(A) F5ct 1 217 2

(B) &5 1, 2314 3

(C) 85 1,2 214 4

(D) §571 2
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42. Pullikali is a famous dance festival of state.

(A) Goa (B) Kerala

(C) Telangana (D) Maharashtra
yeellsell Ul MRS 4 Ba 8,

(A) e (B) k31

(C) A&t (D) MR

43.  Which of the following statement(s) is/are correct about Khijadiya Bird Sanctuary?
1. It is located in the Jamnagar district.
2. It is famous for its large population of flamingo birds.
Answer Choices:
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
wflor i wal wietzed @Al Aol su R w87
1. o s Breemi »udd 6.
2. & yavuoy valiel A2 axdl 2 weud 8,
g [Aseul:
(A) 55 1
(B) §5ci 2
(C) 121 2 6
(D) 1 2izdl 2 44l 215 Al
44,  Which of the following statement(s) is/are correct about the PM Svanidhi Scheme?
1. It provides loans upto T 10,000 rupees to street vendors.
2. It is launched by the Ministry of Commerce
Answer Choices:
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
s aa AR dlost viol Eemioll s @/l w87
1. & 99-39uin T 10,000/~ Yl el Heit 53 8.
2. < rulesy dauad ug sl @,

ool [Aseul:
(A) 8561 1 (B) &5 2
(C) 1 i 2 6idd (D) 1 i 2 U4l 3% Al
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45.  Which of the following approves clinical trials of a drug in India?
(A) Indian Council of Medical research
(B) National Pharmaceutical Pricing authority
(C) CSIR
(D) Central Drugs Standard Control Organization
lldaiell slel ouzeHi eat dsllofl udlaed Aol »ul &7
(A) tzdlly doflefl Aallu- ulRme
(B) 2undly luE ey (Ralze wifEisze
(C) MlAAnzuH2R
(D) Blsu eal Hiets [Raste izel
46. Find the correct example(s) of viral disease.
1. Tuberculosis
2. Encephalitis
Answer Choices:
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Meither 1 nor 2
[Esugiory Lot Wi Geleafel sial,
1. &4 291
2. S-ASAGIA
ooy [Aseul:
(A) §5d 1
(B) $51. 2
(C) 1 oA 2 i
(D) 1 »aL 2 Ul 4% +dl
47.  Which of the following countries has developed the Patriot missile system?

(A) USA (B) India
(C) France (D) Russia
flAriell su 28l U2 uduet neudl Rsauidl 6?

(A) yoiusl (B) *ild
(C) sl (D) 2
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48.  Arrange the following states in the increasing order of area-wise forest cover in square kilometers, as per
the India State of Forest Report 2019.

1. Odisha.

2. Maharashtra,

3, Chhattisgarh.

Answer Choices:

(A)2-1-3

(B) 3-2-1

(C)2-3-1 .
(D) 1-3-2

ol Aol UREAR 2dae 2019 3ot e BelMl2aui axt-suaoilEd Bz Yoo At sl A
il silsazll 53,

1. »ilf3au.

2. HelRe.

3. wdlyaz.

apaitt [ seul:

(A) 2-1-3

(B) 3-2-1

(C) 2-3-1

(D) 1-3-2
49, Robusta and Arabica are varieties of crop.

(A) Rice (B) Tea

(C) Coffee (D) Cotton

Fsizel vt w30flsl wisl Al 8.

(A) AL (B) Al

(€) s12l (D) sUN
50.  Which of the following ministries has launched the Champion Portal in 20207

(A) Education Ministry

(B) Ministry of Micro, Small and Medium Enterprises

(C) Defence Ministry

(D) Environment Ministry

2020 i =izl s43muad AU Uda 13 s 87

(A) [as Hauay

(B) &4, &g »im {4 Gellay auay

(C) Hge Hatldy

(D) uulaze {auay
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51.  Which of the following accepted "language” as the criteria for reorganization of states?
1. JVP committee

2. Fazl Ali commission

3. Dhar Commission

Answer Choices:
(A) Only 1 and 2 (B) Only 2
(C)Only 1 and 3 (D) Only 3

w13 flmiell S18L “oumi”a AL Yrolerl Hvgs ddl adlsie edl?
1. vl ufEk
2. 5% wdl 2uHloL

3. 4R Bl
oo, [Asel:
(A) &5 1 i 2 (B) §5¢1 2
(C) &5cl 1 91 3 (D) &5 3

52.  Who among the following were the members of the Interim Government formed in 19467
1. Dr. B.R. Ambedkar

2. Jagjivan Ram

3. C. Rajgopalachari

4., Liaquat Ali khan
Answer Choices:

(A) only | and 3

(B) only 2, 3 and 4
(C)only 1,2 and 3
(D)only 1,3 and 4

Al el Sie sie 1946 Hi wddl aaauousll wasi-AL qedl edl?
1. 8. ofl.3UR. 2isese
2. %AW UA

3. . wwstiueadl
4. [Auisd vl v
grait [Aseul:

(A) 85 1 214 3

(B) 5512, 3 i 4

(C) &5 1,25 3
(D) &5 1, 3 14 4
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53.

54.

Which of the following statement(s) is/are correct about zonal council?
|. The Prime Minister is the chairman of all zonal councils.
2. It is a constitutional body.

Answer Choices:

(A) Only 1

(B) Only 2

(C)Both 1 and 2

(D) Meither 1 nor 2

uEABY wEue i3] HE-iel s B/l e 87

1. a8l B i WRABM URMEL A 6§,

2. o wis oiteelly daeu g,

oraue [Asel:

(A) 55 1

(B)55d 2

(C) 1 244 2 i

(D) 1 wiaal 2 sl stk nedl

Which of the following rights are not available to foreigners in India?
1. Protection of life and personal liberty.

2. Equality of opportunity in matters of public employment.
3. Right to religious freedom.

4. Right to freedom of speech and expression.

Answer Choices:

(A) only 1, 3 and 4

(B) only 2 and 4

(C)only 1 and 4

(D) only 1 and 3

Al izl sul wiEsR ARl dlsiA eudni w17
1. o 2 A5 ed-ud 28,

2. ol Apour-ll susiddi ds-ll wuindl.

3. b5 2adatdidl 21BsR.

4. el i wMd-l w@dsAdiql wfsR.

ot [Aseul:

(A)S5d 1,3 %1 4

(B) 5.2 21 4

(C) &5t 1 24 4

(D) &5 1 i1 3
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56.

Which of the following statement(s) is/are incorrect about the No-Confidence motion in Lok Sabha?

1. It needs support of minimum 20 members before being admitted into the house.
2, It can be moved against an individual minister.

Answer Choices:

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Al ernizll syt MAen/L dlsaeHl iEHH Ui 219 vzl B7
1. 9ysHi il HRclld BbIE Bal HIZ LML 2Ll 20 Aol 251 ASA.
2. aA 515 Aset {lll Rt andl sy 8.

ot [Aseul:

(A) &5 |

(B) 5dt 2

(C) 1 217 2 i

(D) 1 wizan 2 44| 2% 4l

Which of the following statement(s) is/are correct about the Public Accounts Committee?
1. This committee was set up in 1921.

2 It consists of 15 members of the upper house of the parliament.
Answer Choices:

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

o2 [Raiol uER @ DAl s Qe ws?

1. 20 AR 2L 1921 3L S 20l el

2. Aui Auerll GueL erl 15 Aol €U 8.

ot [Aseul:

(A) 85t |

(B) §5d. 2

(C) 1 A 2 bisl

(1) 1 2Ama 2 451 o5 nedl

CSSC-GS-I-YRS-2020 - A] 23

P.T.O.



Sifh

38.

59.

Which of the following statement(s) is/are incorrect about a Private member's bill?
1. It can be introduced by any member of the parliament who's not a minister.
2. It can be introduced in the house after seven days’ advance notice.

Answer Choices:

(A) Only 1 (B) Only 2

(C)Both 1 and 2 (D) Neither 1 nor 2
wiaf] Heeiril WL 210) [Aaniel sl QL vzl 7

1. suSue Hue Ao 3 % Al Al Al gl 27 el sudl as 6.

2. et Baziell 32t sudlA an apenl 29 53 usu e,

arat [dseul:

(A) 351 1 (B) $51 2

(C) 1 17 2 6id (D) 1 vz 2 14 2% Al

The 73rd Constitutional amendment was passed in the Constitution of India during the prime ministership
of

(A) Rajiv Gandhi

(B) V.P.Singh

(C) P.V.Marasimha Rao

(D) Morarji Desai

il iRl 73 ML sitzefly Ykl Al ASHIANE BARAULA YRR 530U Lol el
(A) w2l

(B) dL.Vl.Re

(©ydl. dl. AR uq

(D) Hlue 2L

Find correct statement(s) about the Commissioner for Linguistic Minorities.
1. This is a constitutional body,

2. This commissioner is appointed by the Union Minister of Social Justice.
Answer Choices:

(A) Only 1 (B) Only 2

(C) Only 1 and 2 (D) Neither 1 nor 2
oyl e dladio sBieqz [@a i Rde-)-L sl

1. 2L 215 situzelly s 9,

2. a0 slEa-ael B s s —wi-u sl 2=l gt s2uni wus o,

gt [Aseul:
(A)§5d 1 _ (B) %5c1 2
(C) §5e 1 244 2 (D) 1 wiua1 2 §4] A% 4d]
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60. Which of the following statement(s) is/are incorrect about the Delimitation commission?

61.

I. Its decision cannot be challenged in the High Court.
2. It is set up every ten years.
Answer Choices:
(A) Only 1
(B) Only 2
(C) Only 1 and 2
(D) Neither 1 nor 2
HlMi st Builon [@d) Ad-umiedl sul @/l vzl 7
1. dett [Relud w1 siZui wssidl asidl -l
2. 2srt £ e Al s2ami »ud 8.
ageilol [Aseul:
(A) &5 |
(B) §%d 2
(C) &5 1 21 2
(D) 1 »izar 2 Wsl ik -l

Which of the following statement(s) is/are correct about the National Commission for Backward Classes
(NCBC)?

1. It became a constitutional body after the 101st Constitutional Amendment Act.

2. It consists of a chairman, Vice chairman and 3 other members.
Answer Choices:

(A) Only 1

(B) Only 2
{(C)Both 1 and 2
(D) Meither 1 nor 2

weoldedll HiBL WA 2iloy Audd sBias Sz asad sarla (Stqpllol=l) @A Dd-unidl s
[/l Hi 97

1. a 10134 situzelly ezt wEFREH wel sielld 2l vl
2. dMi Bls wE, S5 GUIRE i 3 vivy wedl Sy .

apaion [dsedl:

(A) 5 1

(B) 851 2

(C) 1 24 260

(1) 1 2ae 2 45l ok ]
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62.  Find correct pair(s) of the ancient names of the present day places:
1. Stambhatirtha : Khambhat
2. Brigukaccha : Bharuch
Answer Choices;
{A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
el w20l Wl Anil e A0 (1)
1. w™elld : vioud
2. o533 M3
orauty [Qseul:
(A) HIAL 1
(B) iA 2
(C) 1 »ir 2 614
(D) 1 waal 2 Hiell Sy AR
63. Find incorrect statement(s) about Ibn Battuta:
1. He was a traveller from Morocco.
2. He didn't visit Gujarat during his journey through India.
3. He came to India during the time of Mohammad Bin Tughlaq.
Answer Choices:
(A) Only 1 and 2
(B) Only 2
(C)Only 1 and 3
(D) None of the given statements
oei-tigcll »i3] uil2) Rt/ gl
. d Hidlssiell sude ual edl.
2. iRl Azl AR A dBL rud-l qeisid dldl 4 edl.

3. d HleHE [Birt doatasmit YHUAL SURd el el
aralol [Aseul:

(A) M= 1 ¥ 2

(B) A 2

(C) s 1 344 3

(D) 2ude [HdeAxidl s «dl
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64,

65,

Among the given disasters, which one was the earliest to occur?

(A) Indian Ocean tsunami (B) Bhuj earthquake

(C) Latur earthquake (D) Odisha Super cyclone
{13 salde W, 56 dlard Al udal 4 sdl?

(A) [de Heruor Yol (B) M ¢154

(C) digR o5Y (D) »U[Esu Yu Asud

Arrange the following districts in ascending order in the terms of annual precipitation.
1. Banaskantha

2. Surat

3. Sabarkantha

4. Navsari

Answer Choices: : .

(A) 2-4-3-1 (B) 4-2-3-1

(C)4-2-1-3 (D)1324
AWfils qzaue-dl 2ol - Preatalla Ascl s4ui allsdl.

1. G- 5lél

2. Yel

3. ARS8

4, +auidl

orauey [Aseul:

(A) 2-4-3-1 (B) 4-2-3-1
(C) 4-2-1-3 (D) 1-3-2- 4

Find correct statement(s) as per the Census-2011:

1. Female literacy rate of Gujarat is lower than the national female literacy rate of India.
2. Sex ratio of Gujarat is lower than the national sex ratio of India.

Answer Choices:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

aadl aeiddl -2011 HaweL 0L Rde-dl bl

|, odiRetAl Al 2oll AL 3 52kl YAl 0l WAL 82 2L B,

2. Yosicteil [oL-e cuRerll Y (@163 52cll 2L 8.

Al [aseul:
(A) &5t 1 (B) &5 2
(C) 134 2 niA (M) 1 v 2 4l

CSSC-GS-1-VRS-2020 - A] 27 P.T.O.



67. Find incorrect statement(s) about Dr. B.R. Ambedkar.
1. He was awarded the Bharat Ratna.
2. He was born in Mhow in Maharashtra.
1. His birthday is celebrated as the Constitution Day in India.
4, He was the First Law Minister of Independent India.
Answer Choices:
{A) only 1 and 4 (B) only 2 and 3
(C) only 2 (D) only 3 and 4
3.6l a1z, 26457 [@al vilel Mate-/HL 2kl
1. AR GURd 2 Sl s3] 2l wdl.
2, AL 2L ML Hg U Al sl

3. Al - HEay sl vl Bax ddd Gl 2ud 8.
4. clil 2ecst HURAAL HUM SIUEL UYL Sdl.

agaet [dseul:
(A) §5d 1 »in 4 (B) §5¢ 2 941 3
(C) &5c 2 (D) 85 3 vir 4

68.  Which of the following are palaeolithic sites in context with ancient history:-
(A) Chirand (B) Deojali Hading
(C) Paiyampalli (D) Hunsgi
3Lzl izl SR Aeel Ldiifis wo &: -
(A) Bais (B) tazmdl eidla
(C) uumueel (D) gx2ll

69.  state is famous for its Pattachitra style of painting.
(A) Odisha (B) Uttarakhand
(C) Tamilandu (D) Maharashtra
e adl uzBot del-dl Bsson 12 ueaid 6.
(A) i3 (B) Grizivis
(C) cHaly (D) Helme

70.  Which of the following temples has multiple temples clustered together?
(A) Palitana Jain temple (B) Konark Temple
(C) Brihadeshwara temple (D) Kedarnath temple
“Alak-iel san B s AEl wins dEU W/ Aol ud &7
(A) Wl ¥ HR2 (B) slaws sl
(T R (D) sz HER

CSSC-GS-I-VRS-2020 - A] 28 [Contd.



71.  Find correct statement(s) regarding the Harappan sites in Gujarat:
1. Lothal is located on Khadir Bet in the Rann of Kutch.
2. Dholavira is located on the banks of Sabarmati river.

3. Nageshwar is an example of mature Harappan sites in Gujarat.
Answer Choices:

(A) only 1 and 2 (B) only 2 and 3
(C)only I and 3 (D) only 3
AAUAML w5 20U @Al WL B/ skl

1. dlug saseil 2ol welR Ol uz Bud B,

2. dietidlzn el A€l 53 Rod .

3. SR Bl YUAHL Yool s 220l Gelsael B,

arane [dseul:
(A) &5 | i 2 (B) §5c 2 vini 3
(C) §5cl 1 244 3 (D) §5d 3

72.  Which of the following statement(s) is/are correct regarding the Sun temple of Modhera ?
1. It was built by Raja Bhimdev-I of the Solanki Dynasty.
2. It has a rectangular stepped tank named Surya Kund.
3. It was built by white and red marbles imported from Afehanistan.
Answer Choices:
{A) only 2 and 3 (B) only | and 2
(C) only 1 (D) only 3
izt 3o Hle ol Al-u Eaisiel sl B wazi a7
1. d Al gl dat um llHia (udal) gzt siiaausl 20 .
2. di A 53 e oA 21s deEizy doud 6,
3. o sl LA $AULE UFE Birl U BUIAUSLE SIRL SirllaaHl e e .
et [[Aseul:

(A) 350 2 @7 3 (B) $5 1 wini 2
(C)&5d 1 (D) $5d 3

73. 'Who among the following was not a Chancellor of the Gujarat Vidhyapeeth ?
(A) Mahatma Gandhi (B) Mahadevbhai Desai
(C) Morarjibhai Desai (D) Dr. Rajendra Prasad
Aol 1 oporid Rendlel sl - sat?
(A) Mt oMl (B) Hettanis sutsd
(C) HIRRDHLY BALSD (D) 4. U= UANIE
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74,

73,

76.

Sankaradev was a leading Bhakti saint from _ region in the 15th century.
(A) Assam (B) Andhra Pradesh
(C) Maharashtra (D) Tamilnadu
dszia 15ladldl uEsen el SilEd dd gdl

(A) LA (B) 2ALEMEAL

(C) el (D) clBe-uy

Find correct statement(s) about the foreign travellers who visited India:
1. Abdur Razzaq Samargandi came from Herat.

2. Al-Biruni came from Uzbekistan.

Answer Choices:

{(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

o1zl yeustd el [Eesll ueulleil (9 e e sl

1. 1663 0% UHAEEL dudel] viedl ¢l

2. Ad-Braedl GooilBai-ell susdl el

grauet [l

(A) 854 |

(B)§5d2

(C) 1 ¥4 2 61,

(D) 1 »tzat 2 45 215y 4l

Find correct statement(s) about Vinaya Pitaka scripture?

(A) It allowed slaves to join the Buddhist sangha without permission of their masters.

(B) It allowed women to join the Buddhist sangha without permission of their husbands.

(C) It required children to take the permission of their parents before joining Buddhist sangha

(D) All of the above

(A= Mezs yfuiell (@8 iz Rae-/-l ss?

(A) A i AL iR gl vaainsll Enn oile daMi A 2dl edl.

(B) d il dril Wil yzeirs(l [Fe olle 2ami A edl wdl.

(C) oun sl ollg Al Bl udal A= HidiRdill yzaunoll ddl 3dl odl.
(D) Guzlsed dHIH
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T8.

Which of the following statement(s) is/are correct regarding the King Ashoka ?

1. Ashokan inscriptions in Afghanistan were mostly written in the Aramaic and Greek languages.
2. A rock edict of Ashoka is found in Girnar, Gujarat.

Answer Choices:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

2% 243015 Aol AA-wioll s3fui Rt i &7

L. 2iasRdiri vtallse Bendnll Wlaieusl 22 s w13 s euusiiul AULdEl gel,
2. YL Biazsi »tail sl 215 Dendv yoll ude 8.

opeued [Ageul:
(A) 850 1 (B) $5d 2
(C) 1 ¥ 2 i (D) 1 wzdl 2 Al

Which of the following statement(s) is/are incorrect regarding ‘Ways and Means Advances’ (WMA)?
L. It is the process through which the Central Government directly lends to the state governments.

2. This loan needs to be repaid in maximum 3 months.

Answer Choices:

{A) Only | (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

‘A 2 L shsaufua (st 2490 R 14 sui Ry vzl 87

1. o 245 uBUL B el gl des w512 Awd sl Wl Bus 2ull 3,

2. it il o Hery 3 WRAML szl 38 6.

aransy [Aseqls
(A) 5d 1 (B) 55 2
(C) 1 #in 2 6in (D) 1 a2 U4l 2% Adl

Find incorrect statement(s) about the COVID-19 pandemic lockdown:

1. Union Home Ministry had issued the lockdown rules using the powers of Disaster Management
Act, 2005.

2. Country was divided into four zones - Red, Green, Yellow and Blue.

Answer Choices:
(A) Only | (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

SUA3-19 sl s st [@8) vzl Fag-/-L skl
1. Beell ope aed el 1oitet s14EL, 2005 L dxtiwildl Gualor s394 dieidlen Rusll oadl sul e
2. 2ud ald, dldl, Yol i careoll S 212 uEasini adacimi sl edl

iy [Aseul:
(A) &5 1 (B) 55 2
(C) 1 &1L 2 oit (D) 1 »taEn 2 451 5% ]
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80. Find correct statement(s) regarding the Swamitva Scheme:
1. Rural lands will be surveved using drones under this scheme:
2. This scheme was launched on the National Panchayati Raj Day 2020.
3. Ministry of Rural Development will implement this scheme.
Answer Choices:
(A) Only 1 and 2
(B) Only 2 and 3
(C) Only 1
(D) All three statements
seti{ledt dloget 2i6iBa il e/l sl
L. 1 dloedl dam Sl Guaia sdla adler enll-i-l el saaumi 2uasl,
2. L 1l Al il 2o Baw 2020 A 2o 643 sl sudl edl.
3. alen st Haua 20 dlesid siHdlsae 59,
arauey [dseul:
(A) &5 1 21 2
(B) &5cl 2 %I 3
(C) &5d 1
(D) 784 el
81. Which of the following statement(s) is/are incorrect regarding the provisions of “National Education
Policy 202077
1. Gross Enrolment Ratio in higher education to be raised to 75% by 2035.
2. Public investment in Education sector will be increased to 6% of GDP.
3. 3-year integrated B.Ed. degree will be required to become a teacher after 2030.
4, It proposed a 5+4+2+4 curricular structure for schools.
Answer Choices:
{A) only 1 and 4 {(B)only 2 and 3
(C) only 2 (D) only 1, 3 and 4
Sl [Baa IR 20207 | Aaausi 2150 AAasidl s/l Rded/Hl viel 87
1. Gaay [asl 2se el ooz 2035 ML ausd-d 752 saauHi »uqsl.
2. [Dae &l mdr Astet AL 67 gl araml wiadl.
3. 2030 usdl [9a1s oial Wiz 3-aul Sle2al2s of] i Al yedl ol 24,
4. ol Wosll HI2 S+4+2+4 vedpss el eveura 539,
ot [Aseul:
(A)&5ct 1 2 4 (B) §5c2 »1 3
(C) §51.2 (D)#5 1,34
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82.  Which of the following statement(s) is/are correct regarding the Law Commission of India?

83.

84.

1. 1t is a statutory body constituted by the Government of India from time to time.
2. It is reconstituted every five years,

Answer Choices:

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

IRl 1481 1121 430 14l 54 /ui R/ w3zl 67

L. ol Gl ARSI gl AHAIAR A 21 Qs deal B,

2, e Vi a¥ def Yol semi »ud o,

saiey [dsel:
(A) &5 1 (B) 55d 2
(C) 1 31 2 6i4 (D) 1 2 2 U4l 3% A4l

Which of the following statement(s) is/are correct about the PM-CARES fund?

1. It is created by an ordinance.

2. It docsn't accept donations cuining (um the budgetary sources of the Public Sector Undertakings.
3. The Cabinet secretary is the chairman of this fund.

Answer Choices:

{(A)only 1 and 2 (B) only 2

(C)only 2 and 3 (D) None of the given statements
Wlzn-3uaf (RUE 2300 LAl s4fui Rair/dl el B?

1. det degsH glal eiriadmi »us &,

2. o 02 Aot Gusunl it Aldiedl qug sid wdlsing -#ll.

3. WAL [AEAL 2 ESide A o,

areut [Asel:
(A) S5 1 211 2 (B) §5d 2
(C) §5c 2 0 3 (D) vide Y4l iy [y «dl

Find incorrect statement(s) about the National Ganga Council:

1. The Prime Minister is the chairman of this body.

2, State of Jharkhand has no representatives in this council,

Answer Choices:

(A) Only 1 (B) Only 2
(C)Both 1 and 2 (D) Neither 1 nor 2
1Y afau ulZne [As) wilel M/l gl

1. 4L Wl SRl SE D,

2. 2L WEMENL RRvis 2o S5 A el

apauey [dseul:
(A) &5 1 (B) &5 2
(C) 1 @7 2 9= (D) T 2%l 2 U5l 3% ]
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85.

86.

37.

Which of the following countries are bordering the Persian Gulf ?

1. UAE

2. Saudi Arabia

3, Iran

4. Yemen

Answer Choices:

(A) 1 and 2 (B) Only 2

(C)2.3and 4 (D) 1,2 and3

Rt 140 s 2ot walluet wdll aReest 209 2uda &7

1. 4o

2. AGel w26

3.

4. 4Mt

vt [Asel:

(A) 124 2 (B) #5112

(C)2,3 %4 (D) 1,243

Find incorrect statement(s) about the Insolvency and Bankruptcy code:

1. This law was enacted in 2018,

2. This law has been suspended for two years under the Atma-Nirbhar initiative in 2020.
Answer Choices:

(A) Only 1 (B) Only 2

(C)Both 1 and 2 (D) Neither 1 nor 2

el v 2any ARt [B8 vilel Rae- /-l Al

. i S14EL 2018 Hi sael il edl.

9. ad 2020 A i se1R vuci-Felz yda ds0 6 W2 2aBid Sl A 8,
ogalol [Asel:

(A) §5L 1 (B) 511 2

(C) 1 3+ 2 6 (D) 1 a2 Usl A% Al
What is the objective of Banking Regulation (Amendment) Ordinance, 20207
(A) Convert India Post Payment Bank into a small finance bank.

(B) Facilitate the merger of Regional Rural Banks with cooperative banks.
(C) Transfer the ownership of NABARD from RBI to Government of India.
(D) Bring certain types of Cooperative Banks under the supervision of the RBL
o [FoL 3oy (uIRL) d2gsM, 2020 -l Gaa g &7

(A) S[Feu e Ul 65 ey [Qnt sisMl UidRd s34l

(B) sl 6150 id i fls wfle dsi-i viglse-l ylam sl

(C) el Hul@ sl 2uzellans wildl eiid ARSRHL sididel 529,

(D) w144 Mg+l desidl dsiA surellaud-l Tuav den dlgdl.

CSSC-GS-I-VRS-2020 - A] 34 [Contd.



88.

89.

50.

grticie of our Constitution empowers the Supreme Court to punish individuals for contempt of
ourt.

(A) Article 215 (B) Article 129

(C) Article 119 (D) Article 133

MLEE; CLTEL R e - YU S8 vl s W2 BN wo saal S a
Y &9,

(A) #i2de 215 (B) »iri%de 129

(C) 2292 119 (D) #id9e 133

Find the correct statement(s) about the Chamba Tunnel which was inaugurated in 2020.
1. It has been constructed by the Border Roads Organisation.

2. It is located in the Union Territory of Ladakh,

3. It is a part of the Darbuk-Shyok-Daulat Beg Oldie (DSDBO) road.

Answer Choices:
(A) Only 1 (B) Only 2 and 3
{(C) Both 1 and 3 (D) All three stateicnts

2020 Hi Gale- sude 2o 339 [ iz Fde-/-L ol

L. clef (ol afla wiof dlotse giat saausmi sus .

2. d g sc uBI AsMi Rad &

3. d Ry s-2ils-gleld ol slledl (datudlollail) Recidl wis ool @,

oty [dseyl:
(A) &5 1 (B) 55 2 ¥ 3
(C) @A | 1A 3 (D) =84 MAe~l

Find correct statement(s) regarding Chak-hao rice:

1. It is a rice variety cultivated in Manipur.

2. It is given the Geographical Indication (GI) tag in 2020.

3. It has black color.

Answer Choices:

(A) Only | and 2 (B) Only 1 and 3

(C) Only 2 and 3 (D) All three staterents
IR T T R TETR ECTR TR B

1. o dEyHi Gowseausl iedl ool 24s o &,
2. d+ 2020 Hi lilRS did (2us) 290 2iyuMl 2udd &.
3. ciell 331 51001 9,

it [Asel:
(A) &5 1 244 2 (B) §5c 1 w4 3
(C) &% 2 s 3 (D) it [Relexil
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' 91. Find correct statement(s) regarding El-Nino:

|. Fl-Nino is a cold current which sometimes appears off the coast of Peru.

2. It causes drought in India.

3. It causes floods in China.

Answer Choices:

(A) Only 1 and 2 (B) Only 2

(C) Only 1 and 3 (D) only 2 and 3

atel-flell 261 2L [l 2l

1 tei-flell B 450 uaws B % Baclls aud Tl eRui-5id w2 1u 8.

PR (DIRCIERCIRAC U RTREL N

3. cl-tefl Ml Y 2ud .

apeuel [seul:

(A)&5c 1 i 2 (B) §5d 2

(C) §5c 1 241 3 (D) &5 2 %14 3
92.  Which of the following is/are the Particularly Vulnerable Tribal Groups of Gujarat?

1. Padhar

2. Siddi

3. Kotwalia

Answer Choices:

{A) Only 1 and 3

(B) Only 2

(C) Only 2 and 3

(1) All three trihes

A2i-umisll oparRic- [Eamzuell sxeas sl o 54 8?

1. 4al}

2. [l

3, slea@yL

araiey [Aseul:

(A) 5l | 244 3

(B) 55 2

(Cy 55 2 3 3

(D) A8 2Rl

CSSC-GS-I-VRS-2020 - A] 36 [Contd.



93.

93.

IIn 2020, the: Ministry of New and Renewable Energy has launched a scheme to develop _  as the
Surya Nagri'.

(A) Konark (B) Modhera

(C) Prabhas Patan (D) Varanasi

2020 i, el oA Yt Glod sotied A g ol adld Rsuaand Qo uz s940.

(A) slus (B) Hl2L

(C) o e (D) Ll

In 2020, Indian Air Force supplied medicines to __ nation under ‘the Operation Sanjeevani’.

(A) Afghanistan

(B) Maldives

(C) Seychelles

(D) Kuwait

2020 Hi, ozl yA-UsL ‘Biiviad dea-l dan
(A) 258U

aireq sl vdladl edl.

(B) Hldgly

(C) Adley

(D) £3d

Find incorrect statement(s) regarding “IN-SPACe™:

1. It is an organization under the Department of Science.

2. It helps private sector companies to use ISRO infrastructure.
Answer Choices:

(A) Only 1

(B) Only 2

(C)Both 1 and 2

(D) Neither 1 nor 2

“aifule-al [AY vital [@EieyHL sl

1. o Rsir Rous, deo-l 21s Ay 0.

2. o vl &ztell Suellafi Sui-l oo yEamsi-l Gudlor s2aml ee 538,
st [dseul:

(A) 85d 1

(B) &5+ 2

(C) 1 i 204

(D) 1 g 2 Ugl s ]
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96. Which of the following statement(s) is/are correct about the International Criminal Court?

1. It is not a part of the United Nations system.

2. It is located in the Netherlands.

3. Kulbhushan Jadhav case verdict was given by this court in 2019.

Answer Choices:

(A) Only 1 and 2 (B) Only | and 3

(C) Only 2 and 3 (D) All three statements

widrargly op-/gleil setdd 30 il sul (/L 2 7

. & AYsd g usudll oot «dl,

2. A ARSI [ 9,

3. secpum oa Sl YHEL v 512 2019 L2l edl.

apalsy [Aseul:

(A) §5cL 1244 2 (B) &5ct 1213

(C) §5c 2 il 3 (D) =8l el
97.  Find the correct pair(s) of international summits of 2019 and their venues:

1. G7 summit: Biarritz, France

2. G20 summit: Osaka, Japan

Answer Choices:

(A) Only 1 (B) Only 2

(C)Both 1 and 2 (D) Neither 1 nor 2

2019 L Biidzagl Bve wRAUE iR A ol dod AL (1) 2l

1. 207 [reR ulEue : BalRes, s

2. 2920 [z WENE @ Bl v

apeunt [Asel:

(A) &5 1 (B) 5ct 2

(C) 1 24 260 (D) 1 a2 U8l sty <l
98, Find the primary objective of the ‘D10 club of democratic partners’:

(A) It aims to rebuild the economy of nations affected by ISIS terror group.

(B) It aims to build Technology for blockchain and cryptocurrency.

(C) It aims to build sustainable solutions for renewable energy.

(D) It aims to develop 5G equipment and technology.

tetgnndl aunlleidisl 0-10 sant o wou s skl

(A) A @, HUSHUBUSAU 21 4] ogell neulid Bailll siefeiazad sdldl wod siaad ©.

(B) drj, ez ol s 249 Brdlsael wiz ielBidl Qlodl szaud 8.

(C) dd @z ystsue Glof i2 2513 Bdl divaid 8.

(D) d @2 5-2 Guseil 21 Hi=lBl Rsfd s2ad 9.
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99.  Find correct pairs(s) of horizontal tax
nance commission for the year 2020-21:

1. Forest and Ecology : 159
2, Area : 15%
3. Population : 259,
4. Tax Effort : 2.5%,
Answer Choices:
(A) only 1 and 3
(B) only 2 and 4
(C)only 1, 2 and 3
(D) only 4
4 2020-21 w2+
I, a oo WRRA : 15y
2. 8250 : 15%
3. qxdl : 25%
4. 53U : 2,57
wat [dsaq):
(A)§5cl 1 21 3
(B) $5c1 2 34 4
(C)85cl 1, 2344 3
(D) $5d 4

1. Interest income

2. Profits and dividends
3. International grants
4. Disinvestment
Answer Choices:
(A)only 1 and 3
(C)only 1, 2 and 3

sl Mol suas e Gersaa(sil) s

|G TS

2. "8l i auoiiy

3. #idzadly el
4. A4y

et [EAsadl:

(A) &5 1 a4 3
(C)&4cl 1, 2 94 3

devolution formulg

components recommended by the 15th Fi-

I5HL -l M2 gl e sudal ARy 52 ARGl Yotril 4281 wi2l] RN

Find correct example(s) of the Revenue Receipts of the Government:

{(B) only 2 and 4
(D) only 4

(B) $5d 2 % 4
(D) $5d 4
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